Off the track note of an engineer

- Rotation and Euler's formula -
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coordinate system) X
(ordered pair) (x,»)
1
(implicit function)
X2+ y2 =1
r
x2 +y2 - }’2

X0, Yo

(x- x0)? +(y- yo)2 =717

central angle 6

X
plane polar coordinate system
1
1,6

angle

radian

90

(radius)
(rectangular Cartesian

y

(unit circle)

1,0

degree

360



minute "1 =60 second
"1 =60 60
360
1 360
1,23,4,5,6,8,9, 10, 12, 15, 18, 20, 24, 30, 36,
40, 45, 60, 72, 90, 120, 180, 360 divisor
60
hour 12 24
temperature C Caelsius
F Fharenheit S
K Kelvin K
Sl
C Coulomb F
Farad
circular measure, or radian arc
radian r
I r L
B
0 0
r 0 1
1 60
. 1
circumference 21 s
P4 1 60
3
21 360
1 = 360 =57.2957 »x
2
trigonometric ratio
rectangular triangle  ABC C
B=6 AB=c¢ BC=a CA=b
. b
sing = —
C
a
cosq = —
C
tanq = L2
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sin  sine cos cosine tan
tangent 3
jiva
- jayb
- sinus
- sine
~e sin
2
1 B O BC
X 1,0 o A
sin@
c=1
sing =b
CA
0 sector AOQO' 0
b CA chord 0
AO
0
3
sinqg @
0 sin@
6 =1 sne = 0017452 P =0017453
180
1 0 4
6 =10 sin® =0.17365 1% =0.17453
2
rotation sinusoidal function
1,6 X,y
X =c0osq
y=sinq
1,0 X,y
q@) =wt
0
w radian/s rad/s



impedance

w=2m 1 1 admittance
1, wt capacitance inductance
x@,y (@ reactance
x(¢) = cosw¢
y(t) =sinw¢
x y
i°=-1
parallel projection
Gaussian plane
x y X,y
DNA r, 0
periodic function 1 T
S f Hz, 1/s 2
Zy=x +iy
1 Zy, =X, +iy,
Ie7
Z1x 7, = (nx) +i(y £ y,)
w=2p f
y
complex number complex plane
i
real part imaginary part 2 -1
Z\Zy = (3 +iyy)(xp +1y,)
Z=x+iy = X, +ixy, +ixgyy +ifyy,
x y i = (% - yuyo) Ty, +x201)
imaginary unit i’=-1  x,y
1 2 Z_xtin
Zy xptiy,
_ (atin)x, - iyy)
(0 +1y,)(x - 1pp)
) _ (axp + y].yzg + '(2' 32‘1)’2 +X,01)
Xp- 1"y,
2 = XX F Ve i m XVe HXop
X3+ 93 X3+ 73
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1 Napier's number

1_ 1 Euler's formula
Z, xtiy
- -xl-lyl : a a O base x
(%1 +p) (3 - 1) . .
. exponential function
_ M- ‘
R f@=a
S x=0 1 a
q+yf Ay e e
de" .
— =g
dx
2
fX)=¢€ x=0
polar form o = g X
oo M
x=1
z absolute value e = 2.71828xx
z argument x=i0 i=-1 i*=- =1 %=
Z r VA 0 nazo n!
Z=1Dq o1, o, 1, .1, 4 1. & 1.
=1+ig+—=( +—=(i +—(i +—(i +—(i + 3¢
q 2I(OI) 3!(Q) 4J_(Q) a(q) el(q)
01 5, 1.5 1 4 1. 5 14
=1+ig- =q°- =i +—q" +=iq° - =g~ +*x
a Zq fiq 4J.q 5!q 6!q
Z =r(cosq +ising) .
= _iq2+iq4-iq6+»¢8
2 e 2 4 6! "]
+i€%-1q3+iq5- q7 +x0e
Zy =rPoy e 3 9 7 o
Z, =r;Pq, coH snd 0 =0
cosq =1- 202+ 1 - =P+
ZZy = 1D (0, +0y) 2 4 6
Z, _HK . 1 1 1
—==b- ) sing =g - =g +=q°%- =q7 +x»x
Z, 1- 02 qqaq 5!q 7!q
1 €9 = cosq +ising
6
Z =cosq +ising
1bq =cosq +ising 0
oo
0 1 »
“Dq 0 =1 e2=i €"=-1
i3
e?2 =-j

1Bq =cosg +ising
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0
- eiq
0
i -1 i ‘e
.3p
. = p
e? 2
> p
=, 0 €°
Z = re
3
y(t) = Asin(w? +q)
A amplitude
angular frequency rad/s
o2/ 0 phase rad(radian)
eiq = cosq +iSinq
0 wtt+O
A6M Y = geos(wr +q) +idsinwe +q)
Aei(wz+q)

y(t) = |m(Aei(wz+q))

cos
2

wi(t) = A sin(we +0y)
o(t) = A,Sin(wz +q,)

340 = 1 (4 %)

a(£) = 15 (48" %))

sin
Re A @)

[ k=]

A

w

Alei(w 40;) Azei(w t+0;) _ (Aleiql + Azeiqz)eth

20) * 32(0) = 1, (A% + 4,%)e" )

2
10
y(t) =1,,(4€™ D)
vy ot
dy() _, &](4™ ") 6
=1,¢ :
dt 8 dt p
e é][+B
w —a ea t+b
dt
d(4e" " _
L = iWAeI(W t+q)
dt
P
—wAe™ N, 2
i +q+P
- e|(w1 q 2)
dy_(t):wASin(Wt+q +B)
dt >
A

X
o
(N} e}

y(t) = |m(Aei(W1+q))

t
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Oyt = |m((‘)4e“w '+q)dt) _Vv
|

Vei(wt+q1,,)
e G By = dv )
& 0@, -a,)
< (a +b) &l o O fa r+b) =& %@
g = o &5
|
N ei(w t+q)dt - %iQAei(w t+q) \Y
o Siw g W)
T dwitgy)
=LY g g e
" —mlloli([h'qv)
eEW g _(;7_,9
Ee]_OAel(WHq- %) er o
= 9——
eWﬂ V(t)
i()
(6)dt ——ASln(Wt+q - —)
U Wt
1 P
w 2
p
’ 1' e eli B
i 2
1 12 addition theorem
w 1
2
11
w(7) i(f) €9 = cosH +i sin®
w exponential law ~ a*@’= a®*™
v(t) =Vsin(wt +q,)
i(t) =Isin(w?+q;) 2 Zi=x1tiyy Zo=xptiye  Z1=7Zp
SX1=X2  Y17)2
v =yt ) €? =cosa +isina
| = g™ e® =cosh +isinb
w w 0
e? " d =(cosa +isina)” (cosb +isinb)
V,I =(cosa " cosb - sina” sinb)
+i(cosa ~ sinb +sina ” cosb)
2 €@*) = cosfa +b) +isin(@ +b)
Z
Y eia I eib - i(a+b)
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cos(@a +b)=cosa” cosb - sina” sinb

sin(@a +b) =cosa " sinb +sina " cosb

B

cos(a - b)=cosa” cosb +sina” sinb

sin(@a - b) =cosa " sinb - sina " cosh

13

Z=X+iY

= zeiq

4

=(x+iy)(cosq +isinq)
=xcosq - ysing +i(xsing + ycosq)

X =xcosq - ysing
Y =xsinq + y cosq

2

&0 _aeosq - sing e
YB sing  cosq gyg
Affine transform

trandation

14

rotation

Nth root

(M=0,1, ...,N-1)

scaling

q+2pM (M=0,1, ...,N-1)
einM =1

ei(q+2pM) - eiqeinM
= ¢l

z=ré® N

1 ;#a+2pM) ¢
Z=rNee N 2 (=01, ...,N-1)

N 1 3 r=1 06=0
1
13 =1
7 =1 ae()+2p0_09
0 3 Q)
20
Z,=e? YD X9
£33 3,
:--+|£
2
Z,=e 3 o A
e 3 3 g
:_l_iﬁ
2 2
-1 3 r=1 0 =m
1
18 =1
z,=65 @120 _po
° e 3 3g
1 .3
==+ | —
2 2
— L.
Z,=e?3 ...§3+2p 3P0
e 3 3
5
22:93 ?’4'4{3 :29
e 3 3g
:l_iﬁ
2 2
15
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.2 .2 2 2
8919 +8e19 Xty
. éKg éKg K2
a+i0

K
O+ib X, N
ly x oy :i
K
_+Z:
a b 2
X7
x ay b _a b 1 x4
z=x+iy K K a b
1 0+ 2 =0
Z=X+iy
1,1
1 (2a)*  (2b)?
X +iYy = -
x+ly
_ x-ly . 1 R 1
x4yt (207 (20)?
I ST
x2+y2 x2+y2
190 106 _ .
_ 2.2 83('_7 TR+~ =r
K=x"+y e 2ag ¢ 2b g
X el 106
— g—,—T r
X== &2a’2b 5
Y:_l
K
2
.2 .2 .. ..
& - 19 :Sei-ig (a +i0) 8’1+i09 (0+ib)  o- ;19
e 2 eK Z2ag ea g e bg
-geiéz_i+ 1 (a+i0)  (0+ib)
éKg aK (2q)? < o) @ 10
) ) ¢—+i0= ¢ -1;—
L10 _ey 16 ea g e o
€ "2y &K g a 0 b 0 (a+i0)  (0+ib)
_@d vy, 1 1 4
eKg bK (2b)2
2
.2 .2
w185, 19
€ 2ag e 2bg
B g gl pol, 1 1
Ko &Koy &a boK (20 (&)
1 1
e’"=-1 e T i
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